APPENDIX B

h—Fk 3247

Z OfFETIL, Cisco MetroPlanner TH AR — FENdA v X —T 2 A ABLOI—RKDEA T L *
NIZHHET D A a8 ID Z50# L7z Y A &AM LET (FB-1 ~B-29),

GX) COMFETH— R T Cl £/ T LI BEESNTWBEA, Xy hT—25HEID  Cisco
MetroPlanner D#7~ T, [ y) AfFE SN TWET, T y) %, Cisco MetroPlanner 737’1 2= 7 |
PERRFIC IR SN RITIG U T CAAY R A= RERIZL AV R A= RO EL L0 EEMNT 5
TLEERLET,

% B 0C-192/STM-64 (9.953 Gbps)

AVE=T14RE4T | h—F 54T RS & ID
NZ AR H TXP MR _10E C B LW 7747 R 141 15454-10E-L1-C= (C /N> R)
TXP_MR_I0E_L. EFEC P Y TR —T v 15454-10E-L1-L= (L /X K)
NZ AR H TXP MR _10E C B LW 7747 R 141 15454-10E-L1-C= (C /N> R)
TXP_MR_I0E_L. FEC P& Y 7 —T v 15454-10E-L1-L= (L /X2 K)
NZ AR H TXP MR _10E C B LW 7747 R 141 15454-10E-L1-C= (C /N> R)
7 . e
TXP_MR_IOE L. FEC 72 L Y 7 —T v 15454-10E-L1-L= (L /X2 K)
NI UARH TXP_MR_10E, EFEC W 77471+ 15454-10E-L1-xx.y= (C /3> I)
Y FH—T v 15454-10E-L1-xx.y= (L /x> K)
N AR H TXP_MR_10E, FEC Mj& 74Tk 1+ 15454-10E-L1-xx.y= (C 73> F)
Y FHR S —T v 15454-10E-L1-xx.y= (L /X2 K)
N UARSH TXP_MR _10E, FEC 72 L 7I7AT R 1+ 15454-10E-L1-xx.y= (C 73> F)
Y FR S —T v 15454-10E-L1-xx.y= (L /X2 K)
T AR H TXP_MR_10G, FEC Pk 74Tk 1+1 15454-10T-L1-xx.y=
Y TR —T v
N RRH TXP_ MR _10G, FEC 72 L 7747 M1+ 15454-10T-L1-xx.y=
Y TR —T v
FAy I—FR OC-192 LR 74Tk 1+1 15454-192L-1-xx.y= (ANSI)
STM-64 LR 15454E-64L-xx.y= (ETSI)

Cisco MetroPlanner DNDM AR L—< 3> A/ K
[ oL-10358-01-J
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[ |
% B-2 OC-48/STM-16 (2.488 Gbps)
AVE—Tz4R 44T | h—F 547 REgs147 & ID
FT AR H TXP_MR 2.5G 747k 1+ 15454-MR-L1-xx.y= (FE{%::#)

TXPP_MR_2.5G, FEC W&

Y F#FH o —T

k77 A8 AL 9 F K

15454-MRP-L1-xx.y= ({:7#)

KT ARH

TXP MR 2.5G

TXPP MR 2.5, FEC 72 L

74T B 1+1
Y 7R —T v

K77 AN AL vF R

15454-MR-L1-xx.y= (FE{f:#)

15454-MRP-L1-xx.y= ({i#)

KNS ARVA

MXP 2.5 10E C B LW
MXP 2.5 10E_L. EFEC WNJ&

74Tk 1+]

Y FHRr—T v

15454-10ME-L1-C= (C /N> K)

15454-10ME-L1-L= (L /X k)

KNS ARVA

MXP 2.5 10E C B LW
MXP 2.5 10E L. FEC P&

74Tk 1+

Y P —T L

15454-10ME-L1-C= (C /N> K)

15454-10ME-L1-L= (L /3> K)

NS ARVA

MXP_2.5_10E, EFEC i

74Tk 1+]

Y TR —T v

15454-10ME-xx.y=

NS ARVA

MXP 2.5 10ET, FEC &

74Tk 1+]

Y TR —T v

15454-10ME-xx.y=

KNS ARVA

MXP_2.5_10G, FEC HNJ&

74Tk 1+]

Y TR —T v

15454-10M-L1-xx.y=

KNS ARVA

MXP_2.5_10G, FEC 7L

74Tk 1+

Y TR —T v

15454-10M-L1-xx.y=

Sy H—FR OC48ELR / SMT-16ELR 74Tk 141 15454-048E-1-xx.y (ANSI)
15454E-EL16HSxxyy= (ETSI)
% B-3 OC-12/STM-4 (622 Mbps)
AVE—TIAREA4T |h—F 247 RE&ER214 7 8& 1D
KT AR H TXP_ MR 2.5G 7747k 141 15454-MR-L1-xx.y= (FE{F:7#)

TXPP_MR 2.5G, FEC Wi

Y TR —T v

k77 AN AL 9 F

15454-MRP-L1-xx.y= ({3#)

Ko ARVH

TXP_MR 2.5G

TXPP_ MR 2.5, FEC 72 L

7747 F 141
Y FHRr—T v

K77 AR AL 9T

15454-MR-L1-xx.y= (FE{%::#)

15454-MRP-L1-xx.y= ({i#)
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% B4 0C-3/STM-1 (155 Mbps)
AVE—T24R 84T | h—F 847 RE2LT 821D
NT VAR H TXP_MR_2.5G 7547k 141 15454-MR-L1-xx.y= (FE{£7#)

TXPP_MR_2.5G, FEC W&

Y TR —T v

W77 AN AL v F R

15454-MRP-L1-xx.y= (13:#)

KT ARH

TXP MR _2.5G

TXPP MR 2.5, FEC 72 L

77478141
Y FRr—T v

HT 7 AN AL v F R

15454-MR-L1-xx.y= (FE{i#)

15454-MRP-L1-xx.y= ({i#)

% B-5

10GE WAN PHY (9.953 Gbps)

A=z 4R 547

h—Ka47

RiEs17

25D

Ko ARVH

TXP MR _10E C B L
TXP_MR_10E_L. EFEC P&

7747 b 1+1

Y 7R —T v

15454-10E-L1-C= (C X R)

15454-10E-L1-L= (L /N> R)

RS ARVH

TXP MR _10E C B LD
TXP_MR_10E_L. FEC P&

7747 b 1+1

Y FHRr—T v

15454-10E-L1-C= (C X R)

15454-10E-L1-L= (L /N> R)

Ko ARVH

TXP_ MR_10E C B L
TXP_MR _10E L, FEC 72 L

7747 b 1+1

Y FHRr—T v

15454-10E-L1-C= (C X R)

15454-10E-L1-L= (L /N> R)

KNS ARVA

TXP_MR_10E, EFEC W&

74Tk 1+]

Y ¥R r—T v

15454-10E-L1-C= (C /X R)

15454-10E-L1-L= (L /N> R)

KNS ARVA

TXP_MR_I10E, FEC Mgk

74Tk 1+

Y FHRr—T v

15454-10E-L1-C= (C /X R)

15454-10E-L1-L= (L /N> R)

NS ARVA

TXP MR _10E, FEC 72 L

74Tk 1+]

Y TR —T v

15454-10E-L1-C= (C /X R)

15454-10E-L1-L= (L /N> R)

KNS ARVA

TXP_MR_10G, FEC Mgk

74Tk 1+]

Y TR —T v

15454-10T-L1-xx.y=

NS ARVA

TXP MR _10G, FEC 72 L

74Tk 1+]

Y TR —T v

15454-10T-L1-xx.y=

[ oL-10358-01-J
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46 B

% B-6

10GE LAN PHY (10.3 Gbps)

L98—T4R 54T

h—KE47

REL21T

#S1D

NS ARH

TXP_MR_10E C 5L
TXP_MR_10E_L, EFEC W&k

7747 b 141

Y FH L — T

15454-10E-L1-C= (C /X R)

15454-10E-L1-L= (L /3> R)

NS ARHE

TXP_MR_10E C 5L
TXP MR _10E L. FEC Mjik

74T b 141

Y F#FH o —T

15454-10E-L1-C= (C /X R)

15454-10E-L1-L= (L /3> R)

N ARH

TXP MR _10E C &Lt
TXP MR _10E L, FEC 72 L

74T b 1+

Y FH L —T

15454-10E-L1-C= (C /X R)

15454-10E-L1-L= (L /3> R)

N AR H TXP_MR_10E, EFEC P& 7747k 1+ 15454-10E-L1-C= (C /3> K)
Y TRV —T v 15454-10E-L1-L= (L /X K)
KT UARH TXP_MR_10E, FEC P& 7747k 1+ 15454-10E-L1-C= (C /3> F)
Y TRV —T v 15454-10E-L1-L= (L /X2 K)
FT U RRSH TXP_MR_10E, FEC 72 L JTA4AT R 1+1 15454-10E-L1-C= (C /3> R)
Y TR —T v 15454-10E-L1-L= (L /X2 K)
T AR H TXP_MR_10G, FEC Mk 7747k 1+1 15454-10T-L1-xx.y=
Y 7R —T
N ARRH TXP_MR_10G, FEC 7z L JTAT R 1+1 15454-10T-L1-xx.y=

Y FHR—T v

% B-7 GE (1.25Gbps)
AV8=0x4RE34F |A—FK 4247 RE217 #H&ID
NS RRHE MXP_MR_2.5G 7 TA4T b 1+1 15454-DM-L1-xx.y= (FE4%7#)

MXPP_MR 2.5G

Y TR —T v

HT 7 A8 AL 9 F R

15454-DMP-L1-xx.y= ({#7#)

KT ARH

MXP_MR_10DME, EFEC &

7547 b 1+1

Y TR —T v

15454-10DME-C= (C /N> k)

15454-10DME-L= (L /8> K)

KT ARH

MXP_MR_10DME, FEC Wi

774 T b 141

Y TR —T v

15454-10DME-C= (C /N> R)

15454-10DME-L= (L /N> K)

NS ARH

MXP_MR_10DME, FEC 72 L

774 T b1+

Y TR —T v

15454-10DME-C= (C /N> R)

15454-10DME-L= (L /3> K)

KT ARH

TXP_MR_2.5G

TXPP_MR_2.5G, FEC W&

77478 1+1
Y R —T 1

k77 A8 AL 9 F

15454-MR-L1-xx.y= (FE{5:i#)

15454-MRP-L1-xx.y= ({:7#)

KT ARH

TXP MR 2.5G

TXPP MR 2.5, FEC 72 L

7547 b 1+1
Y TR —T v

K77 AN AL 9 F

15454-MR-L1-xx.y= (FE{f:#)

15454-MRP-L1-xx.y= ({3#)

I TN

GE DWDM GBIC

74Tk 1+

15454-GBIC-xx.y=
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% B-8 T7R b A—H% v+ (100 Mbps)

AVE—T24R 84T | h—F 547 RES1A T 821D

NT AR H TXP_MR_2.5G 7 74Tk 141 15454-MR-L1-xx.y= (FE{£7#)

TXPP_MR_2.5G 2R

Y TR —T v

W77 AN AL v F R

15454-MRP-L1-xx.y= (13:#)

% B-9

FC-10G (10.5 Gbps)

A98—IA4 XR84T

h—KE47

R4 7

M ID

KNS ARVA

TXP MR _10E C B L
TXP_MR_10E_L. EFEC Wi

7747 1+1

Y TR —T v

15454-10E-L1-C= (C /X» K)

15454-10E-L1-L= (L /N> K)

NS ARVA

TXP MR _10E C B LW
TXP_MR_10E_L. FEC i

74Tk 1+1

Y TR —T v

15454-10E-L1-C= (C /X» F)

15454-10E-L1-L= (L /N> K)

KT ARH

TXP MR _10E C &Lt
TXP MR 10E L. FEC 72 L

JI7AT b 1+

Y FRr—T v

15454-10E-L1-C= (C /X K)

15454-10E-L1-L= (L /N> K)

KT ARH

TXP_MR_I10E, EFEC W&k

7747 b 141

Y FHRr—T v

15454-10E-L1-C= (C /X K)

15454-10E-L1-L= (L /N> K)

KT ARH

TXP_MR_I10E, FEC MJsk

7747 b 141

Y TR —T v

15454-10E-L1-C= (C /X K)

15454-10E-L1-L= (L /N> K)

KT ARH

TXP MR _10E, FEC 72 L

7747 b 141

Y TR —T v

15454-10E-L1-C= (C /X K)

15454-10E-L1-L= (L /3> R)

% B-10

FC-4G (4.25 Gbps)

A98—TIA XR84T

h—KE47

R4

M ID

KT ARH

MXP_MR_10DME, EFEC &

7747 b 141

Y R —T v

15454-10DME-C= (C /X R)

15454-10DME-L= (L /3> K)

KT ARH

MXP_MR_10DME, FEC HjE

7747 b 141

Y FRr—T v

15454-10DME-C= (C /3> R)

15454-10DME-L= (L /3> K)

KT ARH

MXP_MR_10DME, FEC 72 L

7747k 141

Y TR —T v

15454-10DME-C= (C /3> R)

15454-10DME-L= (L /N> R)
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% B-11 FC-2G (2.125 Gbps)
AVE—Tz4R 44T | h—F 547 REs14 7 &&ID
FT AR H MXP_MR 2.5G ATk 1+ 15454-DM-L1-xx.y= (FE{#)

MXPP_MR 2.5G

Y TR —T v

W77 AN AL v F R

15454-DMP-L1-xx.y= ({#)

KT ARH

MXP_MR_10DME, EFEC &

7747 b 141

Y FRr—T v

15454-10DME-C= (C /3> R)

15454-10DME-L= (L /3> K)

KT ARH

MXP_MR_10DME, FEC ik

7747 b 141

Y TR —T v

15454-10DME-C= (C /3> R)

15454-10DME-L= (L /N> R)

KT ARH

MXP MR _10DME, FEC 72 L

7747 b 141

Y TR —T v

15454-10DME-C= (C /3> R)

15454-10DME-L= (L /N> R)

KT ARH

TXP_ MR _2.5G

TXPP_MR_2.5G, FEC Wi

77478141
Y TR —T v

W77 AN AL v F K

15454-MR-L1-xx.y= (FE{#i#)

15454-MRP-L1-xx.y= (1%:#)

NS ARVA

TXP MR 2.5G

TXPP MR 2.5, FEC 72 L

JIA4T K 1+1
Y FRr—T v

KT 7 A8 AL Y F K

15454-MR-L1-xx.y= (FE{:#)

15454-MRP-L1-xx.y= ({#i#)

% B-12  FC-1G (1.062 Gbps)
AV8=0x4RE34F |A—FK 4247 BREs17 & ID
FT AR H MXP_MR 2.5G ATk 1+ 15454-DM-L1-xx.y= (FE{##)

MXPP_MR 2.5G

Y TR —T v

$T 7 AR AL v F R

15454-DMP-L1-xx.y= ({7#)

KT ARH

MXP_MR_10DME, EFEC &

7747 b 141

Y TR —T v

15454-10DME-C= (C /3> R)

15454-10DME-L= (L /N> R)

KT ARH

MXP_MR_10DME, FEC Pk

7747 b 141

Y TR —T v

15454-10DME-C= (C /3> R)

15454-10DME-L= (L /N> R)

KT ARHE

MXP_MR_10DME, FEC 72 L

JI7AT b 1+

Y TR —T v

15454-10DME-C= (C /N R)

15454-10DME-L= (L /N> R)

KT ARH

TXP_MR_2.5G

TXPP_MR_2.5G, FEC W&

7747 b 1+1
Y TR —T v

BT 7 AN AL v F R

15454-MR-L1-xx.y= (FE{#)

15454-MRP-L1-xx.y= (13:#)

KT ARH

TXP MR _2.5G

TXPP MR 2.5, FEC 72 L

77478141
Y FRr—T v

T 7AN AL TR

15454-MR-L1-xx.y= (FE{#i#)

15454-MRP-L1-xx.y= ({#3#)
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# B-13 FICON-2G (2.125 Gbps)

AVE—Tz4R 44T | h—F 547 REs14 7 &&ID
FT AR H MXP_MR 2.5G ATk 1+ 15454-DM-L1-xx.y= (FE{#)

MXPP_MR 2.5G

Y TR —T v

W77 AN AL v F R

15454-DMP-L1-xx.y= ({#)

KT ARH

MXP_MR_10DME, EFEC &

7747 b 141

Y FRr—T v

15454-10DME-C= (C /3> R)

15454-10DME-L= (L /3> K)

KT ARH

MXP_MR_10DME, FEC P

7747 b 141

Y TR —T v

15454-10DME-C= (C /3> R)

15454-10DME-L= (L /N> R)

KT ARH

MXP MR_10DME, FEC 72 L

7747 b 141

Y TR —T v

15454-10DME-C= (C /3> R)

15454-10DME-L= (L /N> R)

KT ARH

TXP_ MR _2.5G

TXPP_MR_2.5G, FEC Wi

7747 b 141

Y TR —T v

K77 A8 AL S F K

15454-MR-L1-xx.y= (FE{#i#)

15454-MRP-L1-xx.y= ({§:3#)

NS ARVA

TXP MR 2.5G

TXPP MR 2.5, FEC 72 L

74T 1+1

Y FRr—T v

KT 7 A8 AL Y F K

15454-MR-L1-xx.y= (FE{:#)

15454-MRP-L1-xx.y= ({#i#)

%z B-14 FICON-1G (1.062 Gbps)

AV8=0x4RE34F |A—FK 4247 BREs17 & ID
FT AR H MXP_MR 2.5G ATk 1+ 15454-DM-L1-xx.y= (FE{##)

MXPP_MR 2.5G

Y TR —T v

$T 7 AR AL v F R

15454-DMP-L1-xx.y= ({7#)

KT ARH

MXP_MR_10DME, EFEC &

7747 b 141

Y TR —T v

15454-10DME-C= (C /3> R)

15454-10DME-L= (L /N> R)

KT ARH

MXP_MR_10DME, FEC P

7747 b 141

Y TR —T v

15454-10DME-C= (C /3> R)

15454-10DME-L= (L /N> R)

KT ARHE

MXP MR _10DME, FEC 72 L

JI7AT b 1+

Y TR —T v

15454-10DME-C= (C /N> R)

15454-10DME-L= (L /N> R)

KT ARH

TXP_MR_2.5G

TXPP_MR_2.5G, FEC W&

J7AT b 1+

Y TR —T v

$T 7 AN AL v F R

15454-MR-L1-xx.y= (FE{R#)

15454-MRP-L1-xx.y= (13:#)

KT ARH

TXP_ MR _2.5G

TXPP MR 2.5, FEC 72 L

7747 b 141

Y FRr—T v

T 7AN AL TR

15454-MR-L1-xx.y= (FE{#7#)

15454-MRP-L1-xx.y= ({#i#)
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% B-15 ESCON (200 Mbps)
AVE—Tz4R 44T | h—F 547 REs14 7 &&ID
FT AR H MXP_MR 2.5G ATk 1+ 15454-DM-L1-xx.y= (FE{#)

MXPP_MR 2.5G

Y TR —T v

HT 7 AR ALy F R

15454-DMP-L1-xx.y= ({#)

KT ARH

TXP MR _2.5G

TXPP_MR_2.5G 2R

77478141
Y FRr—T v

W77 ANAL TR

15454-MR-L1-xx.y= (FE{i#)
15454-MRP-L1-xx.y= ({:3#)

%z B-16

ISC-Compact (1.062 Gbps)

A=z 4R 547

h—Ka47

RiE517

#MEID

Ko ARVH

TXP_MR 2.5, FEC72 L

7747k 1+1

15454-MR-L1-xx.y= (F{5:#)

15454-MRP-L1-xx.y= ({:i#)

Ko ARUH

MXP_MR_10DME, EFEC Wik

7747k 1+1

15454-10DME-C= (C /N> R)

15454-10DME-L= (L /N> R)

Ko ARVH

MXP_MR_10DME, FEC N

7747k 1+1

15454-10DME-C= (C /N R)

15454-10DME-L= (L /N> R)

NS ARVA

MXP MR_10DME, FEC 72 L

7747 1+1

15454-10DME-C= (C /S R)

15454-10DME-L= (L /N> R)

% B-17

ISC-Peer 2R

A=z 4R 547

h—Ka47

RiE517

#MEID

Ko ARVH

TXP_MR 2.5G 2R

7747k 1+1

15454-MR-L1-xx.y= (F{5::#)

15454-MRP-L1-xx.y= ({:i#)

%z B-18

ISC-3 Peer-1G (1.062 Gbps)

A= 4R 547

h—K 247

R4 7

#&ID

Ko ARVH

MXP_MR_10DME, EFEC Wik

7747k 1+1

Y TR —T v

15454-10DME-C= (C /N> R)

15454-10DME-L= (L /N> R)

Koo ARH

MXP_MR_10DME, FEC N

7747k 1+1

Y TR —T L

15454-10DME-C= (C /N R)

15454-10DME-L= (L /N> R)

Ko ARH

MXP_MR_10DME, FEC 72 L

7747k 1+1

Y TR —T L

15454-10DME-C= (C /N> R)

15454-10DME-L= (L /N> R)
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h—F 247

# B-19

ISC-3 Peer-2G (2.125 Gbps)

L98—T4R 54T

h—KE47

REI1T

#&ID

KU ARHE

MXP_MR_10DME,

EFEC &

J7AT b 1+

Y TR —T v

15454-10DME-C= (C /N R)

15454-10DME-L= (L /N> R)

NS ARH

MXP_MR_10DME,

FEC MJik

JI7AT b 1+

Y TR —T v

15454-10DME-C= (C /N R)

15454-10DME-L= (L /N> R)

N ARH

MXP_MR_10DME,

FEC 72 L

J7AT b 1+

Y TR —T v

15454-10DME-C= (C /N R)

15454-10DME-L= (L /N> R)

% B-20

Sysplex ETR (8 Mpbs)

L98—T4R 84T

h—KE47

REI1T

#&ID

KT ARH

TXP_MR_2.5G 2R

J7AT b 1+

15454-MR-L1-xx.y= (FE{#)

15454-MRP-L1-xx.y= (13:#)

% B-21

Sysplex CLO (8 Mpbs)

L98—T4R 84T

h—KE47

REI1T

#&ID

KT ARH

TXP MR _2.5G 2R

7747 b 141

15454-MR-L1-xx.y= (FE{#:i#)

15454-MRP-L1-xx.y= (13:#)

% B-22 SDI
AV8—DAR B4 |A—FK 44T RESAT B} ID
NZ UV ARH TXP_MR 2.5G 7S5 AT b 141 15454-MR-L1-xx.y= (FE{7:3#)

TXPP_MR 2.5G 2R

Y TR —T v

HT 7 AN AL v F R

15454-MRP-L1-xx.y= ({3:#)

% B-23 DVB-ASI

A=z 4R 547

h—Ka47

RiEs17

851D

RS ARVH

TXP_MR 2.5G TXPP_MR_2.5G 2R

7747k 1+1
Y FHr—7 v

T 7 A8 AL 9 F R

15454-MR-L1-xx.y= (FE{%#)

15454-MRP-L1-xx.y= ({§:3#)

% B-24

D1 EF# (270 Mbps)

L98—T4R 84T

h—KE47

R#a(T

#S1D

N ARH

TXP_MR_2.5G TXPP_MR_2.5G 2R

7747 b 1+1
Y TR —T v

HTZ7 7 AN AL v F R

15454-MR-L1-xx.y= (GE{:i#)

15454-MRP-L1-xx.y= ({:#)
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% B-25

HDTV (1.48 Gbps)

L98—T4R 54T

h—KE47

R#a(T

#S1D

N ARH

TXP_MR_2.5G TXPP_MR_2.5G 2R

74T 141
Y TR —T v

KT 7 ANAA TR

15454-MR-L1-xx.y= (GE{3:i#)

15454-MRP-L1-xx.y= ({#:i#)

%z B-26

DV-6000 (2.38 Gbps)

A98—IA4 XR84T

h—KE47

Rigs47

8& 1D

KNS ARVA

TXP_MR 2.5G TXPP_MR 2.5G 2R

ATk 1+1
Y TR —T v

77 A8 AL 9 F R

15454-MR-L1-xx.y= (FE{:3#)

15454-MRP-L1-xx.y= ({f:3#)

% B-27

2R Any Rate

A=z 4R 4547

h—K 2147

R4 7

#qSID

N ARH

TXP_MR 2.5G TXPP_MR_2.5G 2R

7747 1+1
Y TR —T v

k7748 AL 9 F K

15454-MR-L1-xx.y= (GE{R:i#)

15454-MRP-L1-xx.y= ({#:7#)

% B-28  ONS 15530 2.5G ITU-T

AV3—TIAREB4T |H—FK 24T REY1 7 8& 1D

TXP MR MM TXP 7547k 1+ 15530-TSP1-xx21 (MM FE{¢:#)
MR SM TXP W77 A8 ZAA vF K |15530-TSP1-xx22 (SM FE{FE)

MR MM TXP, A7V v X% Nk

MR SM TXP, A7V v ¥ N

15530-TSP1-xx11 (MM 1)

15530-TSP1-xx12 (SM {###)

LC 25Gbps 7 /U —a v 7 74Tk 141 15530-ITU3-xx20 (JE{i#)
2.5Gbps 77V F—a KT 7 AN AL »F K |[15530-ITU3-xx10 (fi#)
2T 2 N

#B-29  ONS 15530 10G ITU-T

A98—IA4 XR84T

h—KE47

Riga4 7

8& 1D

LC

10Gbps 7 7'V ' —< 2

10Gbps 7 7'V F—r3
ATV v S Wk

7547 b 1+1
K77 ANZAAL vFR

15530-1TU2-xx20 (FE{#)

15530-ITU2-xx10 (f£3#)

MXP

T I ARH

T—H I ARH
AT Z N

7747 b 1+1
K77 A8 AL 9 F K

15530-MSMP-xx22 (FE{5-34)

15530-MSMP-xx12 ({#:3%)
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